Station 1							4.1-4.5 Review Stations

The graph of the continuous function f(t) is given below.  Given that , answer the following questions.
[image: ]






1.  g(2) =


2. g(4) =


3. g(-4) =


4. g ‘ (2) =


5. g ‘’ (2) = 
Station 2							4.1-4.5 Review Stations


1. 



2. 



3. 



4. 



5. 



6.    Find all possible values for k.

Station 3							4.1-4.5 Review Stations
After the most successful trick-or-treating excursion in history, Addie starts to pour out her candy from her candy bag onto the floor.  As a math junkie, her father calculated the rate the candy is falling at various times.  The rate, in pieces per second, and the time (in seconds) are given in the table below.  
	t
	0
	1
	3
	7
	10

	r(t)
	0
	3
	6
	8
	5



Use the table above to answer the following questions:


1. Use a right Riemann Sum with 4 sub-intervals from the table above to approximate .




2. Use a left Riemann Sum with 4 sub-intervals from the table above to approximate .




3.  Use a trapezoidal approximation with 4 sub-intervals from the table above to approximate .


Station 4							4.1-4.5 Review Stations
Given the following info:




1. 


2. 


3. 


4. 


5. 

	x
	-3
	0
	1
	5

	g ‘ (x)
	8
	3
	-4
	7



6. Given the following table for g ‘ (x), find 


Station 5							4.1-4.5 Review Stations
1.  A bug is walking along the x-axis, and its velocity is measured at various times listed in the table below.  Use the table to answer the following questions.  Assume his velocity is continuous and differentiable.
	t   (sec)
	0
	3
	5
	8
	15

	v(t)   ft/sec
	2
	6
	-3
	1
	8



a.  Find the average acceleration over the interval [0, 15].  Using correct units, explain the meaning of this answer in context of the problem.


b.  Approximate the acceleration of the bug at t = 4 seconds.


c.  At how many times can we guarantee that the bug is at rest over the interval [0,15]?  Explain your reasoning using proper mathematics.


d. Is there a time when a(t) = 0 on the interval [0,5]?  Justify your reasoning using proper mathematics.



e. Using correct units, explain the meaning of  in the context of this problem.


Station 6							4.1-4.5 Review Stations

1. Given , find f(x).



2. =



Use the following table for questions 3-4:
	x
	1
	2
	4
	9

	f(x)
	-3
	2
	8
	4

	g(x)
	7
	11
	15
	12





[bookmark: _GoBack]3. If , find .





4. If , use the table above to find 
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